DIVISION WITH A REMAINDER (H - SET 2)

DIVISION WITH 10 Name:
Time: Score: A
n 5048 =10 = 16) 3427 + 10 =
2 5692 + 10 = 179184 =10 =
3 9605 = 10 = 15) 8538 + 10 =
1 92809 = 10 = 19) 7504 + 10 =
5 3865 = 10 = 200 9247 =10 =
6 2900 + 10 = 209009 + 10 =
N 4941 + 10 = 2) 7959 + 10 =
9 8306 = 10 = 23 95336 = 10 =
9 1082 = 10 = 24) 9413 + 10 =
101285 + 10 = #9238 + 10 =
1) 653 =10 = 260 7592 =10 =
12) 2537 = 10 = 21 9258 + 10 =
13) 150 = 10 = 28 6093 + 10 =
1) 24926 = 10 = 290 2923 + 10 =
15 92335 = 10 = 30 9417 = 10 =

Mathematics: Division - Level 7 - Horizontal - Set 2
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